>, /75 T

The branch of Biology which deals with the sludy
of heredity and variation is called:

Choose the most appropriate answer from the
options given below:

(A)  Reproductive biology

(B) Inheritance

(C) Genetics

(D)  Dominance

(E)  Question not attempted

ﬁﬁnmaﬁmmm%mmm% FHEETe B-
ﬁwﬁ'«rﬁgaﬁ‘ewﬁﬁﬁwafmmmmgﬁ
(A) S99 Shafagm

B)  Fumfq

(©)  snEfuh
(D) wrfaar
(B)  31gafa wy

Which of the following is not a function of' blood?

Choose the maost appropriate answer from the
options given below:

(A)  Excretion of the waste products out of the

body

(B)  Production of enzymes for digestion of

food

(C)  Exchange of 0, and cCoO, between
environment and the tissues

(D) Transport of hormones

(E)  Question not attempted

ﬁmfﬁm&ﬁmmaﬂw-maaﬁm%

Freferfiaa et o & wafferas saaw S

(A)__ A s1f3re wareit w1 seasiy

(©) amwaﬂtmaﬁ%aﬁaoqaﬁtcoq
iR e

(D) M} 1 gftgeq
(B) ¥l ag

TUV-C09| ¢

\3\ Hormone insulin is produced in-

Choose the maost appropriate answer from the
options given below;

(A)  Adrenal gland (B) Liver

(C)  Pancreas (D)  Gall bladder

(E)  Question not attempted

3Hf BTHH T 3eqre Brr -

ﬁmﬂwﬁaaﬁmﬁﬁﬁmﬁba;mmgﬁ;
() stfergas (ufgen) nfer
(B) aFa (eftaw) i

(C)  3mTerT (Afsparen) i
(D) fg=merr (et sdrev)

(B)  ovafta gy

\4\ I the difference between 71% of a number and
49% of the same number 1s 396, then the number

is:
afs forelt s % 710, @ I T ¥ 400, i
ST 396 &, |Y G 2 ' ‘};,,
(A) 1720 39 12
6 ’
(B) 2200 3%y g
(C) 2000

W) 1800

(E) " Question not attempted / STTART g

@ A sum of money was lent on simple interest for a
certain time, If the sum amounts to T 6000 at 10%
rate of interest and to ¥ 3600 at 4% rate of
interest, then find the time (in years) for which
the money was-lent?
T LT AT AT 9 s qoT ¥ ferw 3um
) A TR 10% =Ie 3 @ 7 6000 B A R qur
4% SIS WA T ag (0 & STt 2, @t 1 Ao
L3

TfST e @ ( %F;I?IEWE’T’T?W
(A) 30 \S‘A’lw
Y/oy/y

—tB)
() 20 ‘f{‘g\

\X
(D) 10 &m
g
(E)  Question not attempted / Wﬁﬁgv‘

| Contd...
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6 A sum of ¥ 15,500 was le . g 2 digenous breed of
nt partly at 5% and the \l{ Which of the following is an indig
remaining at 8% sifiible interest. The total interest chicken? b |
received after 4 ydard was = 4000. The ratio of the » 8 & swer from the
money lent at 5% Yo'that at 8% is: Choose the most appropriate an
¥ 15,500 T¥r =y AT 5% qT S5 w7 89% options given below: '":
[N
STEROT =15 Oy TN 4 5 Y2 shet wATT (A) Rhodeislandred ¢
T 4000 mgam mwm?ﬁﬁm
8% T (B) Plymouth o
S TE U S o o [d _
( A) 65 (C) Aseel A
© 1517 < O 17:15 (D) White leg horn
(E) . Question nmttempted / TN T (E)  Question not attemiid Seft
. e
If the difference Ween compound 1nterest and Freforfer & & -t aﬁ%é (‘%ﬁﬁ) =
simple interest onga certain sum at 20% p.a. for 3 AT R? (\4 -
years is ¥ 480, thefithe sum is: ﬁﬂ%‘%ﬁﬁmﬁﬁmmwaﬁ
w%mrﬁwzb&mﬁmﬁatﬁz.aﬁ%fm A). T2 mEde
mmm%mﬁm?@%ﬁr -Q
afir , 29 LB 8o (B) TEHISY ,
(A) %4000 (B) 6500 NC) I :;);
(©) R6000 e By 23750 (D) ToTEE THTRH &Y/
® Qpestlon nerhttempted / ST T () STaRawy E:ij
What percentagecf the total milk protein is s
gaseiy A i I g Iph
et mmu‘ﬁ#wmﬁuﬁmiﬁaﬁ%‘? ‘. A TREEon (e adaplth' copper Sulphiate
Choose the most appropriate answer from the | I~ solution, Wh?t will be observed?
options given belgi: ; Choose the most approp%te answer from the
freferfa & w3 KA W? . options given below: N
(A) 40-45% y=~@B) 90-95% i
olution b
© 80-83% N (D) 60-62% ) e i cwﬂess'
(E) Question n@auempted ol (B)  Solution becomes rsmm colour.
9 Select the green fpdder from the following: (C)  Solution becomes béwu in colour,
Choose the most appropriate answer from the (D)  Solution retains its blue colour.
options given below: ¢ gy B ‘31 \r(! (E)  Question not attempted
(A) . Oathay & 1 aﬁﬁm%wﬁaﬁw%aﬁwﬁ
(B) Berseem an y ucerne 3 5_——— T, A YO ii‘alm
lo o < » \ _1
(C) Mustard cake =i 3§ AR R &
o] :
(D) Paddy Stra 6 VoY 20y 3 j—y—;/o ﬁ@W%Waﬁ;
Question nqkgttempted TR 4 O (A)  Torera @i & s g 3
ﬁﬂ%ﬁﬁﬁ‘}?{ < T _ (B) ﬁawammmér@n%.
fFreferfaa fapedl G4 waifire uge St o+:
©) ﬁwsﬁmwa‘rm%
e = \
i e (D) et ST i €1 9 sy
(B) m\i’aw- Y ALY (M ;\ _,&N\ (E)  orgaf@wa 395k X
; + !
TUV Cco09 ] : 2 ””‘éf Nyl Wio 1ps" J
1\ 7’,&\ 3y T~ AN [ Cop,
T 0 alle TR 5{; tq,
¥ > hs
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Choose the incorrect statement with reference to
non-metals,

Choose the most appropriate answer from the
options given below:

(A)
B)

A ‘nc.m-metal is used in the water

purification process.

Non-metalg are used in fertilisers.

"W (C) 'Nqn—metéls are good conductors of heat

and electricity.
(D) Non-metals are used in crackers. 15
(E)  Question not attempted
ST % ! 3 wrerer s it fog
Frefirfiee et o & errfires s oo g
(A)  STUTG T ITART ST e ST R
(B)  3TUTT T IUANT ST vive it whmar F A
ST 81 i
(C)  TUTU AT ST forega o e &
(D) AT T STANT U & RS d |
® omufawy SC|H UTCAICY

G lclgar

How many images of an object are formed when
it is placed between two parallel mirrors, facing
their reflecting surfaces?

Choose the most appropriate answer from the

options given below:

(A) Infinite (B) One
(C) Two (D) Four
(E) Question not attempted

af faret g i &1 ¥ wEmEiaT vt & sfter & war
mﬁqﬁmﬂﬁ%@aﬁ%wﬁaa@
& ferey wfdfeis s &2 ’

it i & warifers Sagw ST
(B) T

E) SHARGTE

17

|
| bk What is the greatest 3-digit number which Wher

e 17

divided by 15, 25 and 30 leaves remainder 12 -‘

each case?

3 3it & Y e T & 5 15, 25 7
30 T T T RS Tedeh feurfa 7 12 3w
Z)Q 912 B) 941

(C) 934 (D) 928

(E) Question not attempted / eagﬁﬁ?f T

The average of 9 consecutive numbers arrange "
in their ascending order is 18. What is the averag »;
of the first seven of these numbers?

9 SHURTA HEATE ST STRIE 37 H sFa i & o
18 1 378 | Ugelt 1d HEATS I e T 22
(A) 18 (B) 16

‘YD) 17.5

(E)  Question not attempted / TR 5T

{ { 9‘}6\ What is the average of the numbers 9,5,7,16,.10 i
A

and 13?7
9,5,7,16,10 qT 13 TEATAY T 3iae =1 22
) 10 ®) 11

©) 125 D) 105

-(E)  Question not attempted / STTANT w1

The average marks of 40 students of a class in a ﬂ
test were calculated as 33. But later it was found |
that the score 33 was taken as 93 by mistake.

What is the correct average of their marks?
m%mﬁaﬁiﬁ%@mﬁaﬁwmw N
TS 3 376 G T 33 i oy e & 03 o forarr vy

o) 37 ek} &7 ey 3T =T

(A) 3125 B) 345

(C) 33 YAl s

(E)  Question not attempted / STTART T

y [ Contd...
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\1{ Name the dialect spoken in the region of Kota, )

Bundi, Jhalawar and Baran.

Choose the most appropriate answer from the
options given below:

(A) Dhundari (B) Mewati
(C) Hadoti (D) Bhili
(E)  Question not attempted

HIT, S, FremaTS SN F A 3 el s arch
CISICIE 1L Gy ’

Frferiae foenedt 3 & waifire sugw swoat:
A) TeEEt (B) Ward

O ER (D) fieht

(E) StIai@ww

\{ In which area is the Salasar Hanumanji fair held?

20

Choose the most appropriate answer from the

options given below:

(A) Churu (B) Udaipur

(C) . Pali (D) Karauli

(E) Question not attempted

TR SIS <hT el el ol 87
PR faeresit & & wrrtfires Jage S
o) IE ®) F

(C) el (D) et
(B) FquRayA

Where is Latthmar Holi played in Rajasthan?

Choose the most appropriate answer from the

options given below:

(B)

(A) Barmer Bhinay

(C) ° Banswara D) Srimahavirji

(E) Question not attempted

e & AT Bt Far el ST 8?
frfafad el & waifere Iageh I T
(A) TSR ® fem

(@)% FiFars! (D) et

® T

. Tuv-C091 &

N2l

\%2

. s called:
The process of coating teeth with gold 15 €

Choose the most appropriate answer from the
options given below:

(A) Mokdi (B) Rakhan

(C) Choonp (D) Kandora

(E) Question not attempted

2t Y i e gy T o A &
e R s 3G 3T T
(A) HHS B) T

) 9 (D) R

(B) IaRaud

Name the famous folk theatre of Jaipur.

Choose the most appropriate answer from the

options given below:

(A) Tamasha (B) Swaang

(C) Chaar Baint (D) Hela Khyal
(E) Question not attempted

SR % Wieg Sleh A1k T AT A1y
foreferRad freredi & & waffares Iagw ST I
XA) qHET (B) i

© =R¥ (D) I

(B) Igaiayd

Which place‘has the distinction of being the most
mysterious tourist place in Rajasthan/India?

Choose the most appropriate answer from the

options given below:

(A) Taragarh (B)  Shergarh

(C) Mandalgarh (D) Bhangarh

(E)  Question not attempted

TSR / AT o HH-H I Y ety -
Tee: TS B I TSI UTH 82

(A) ARG (B) I »
() wiEeTg \(D) g

(B) Sfgaid o4




24

25 | e

, ~~;‘options given below:

@‘(A) Bhilwara (B)  Jodhpur ,

24(C) . Udaipur (D)  Jaipur )

©E) Question not attempted

Zﬁw 2024 B AT * TSRAT ST Afares A

%ﬁnﬁr@aﬁm‘iﬁﬁmmw@:

) deme B Suw

O ww Q TR

o® s |
f‘":“..The traditional hunters of Rajasthan include:

:ja Thori b.  Naik

s o Sansi d. Boliya

Which of the following institutions launched the )
" Centralised Web Portal ‘UDGAM’ in August
30239
W
Mﬁammﬁm%%‘m’
«ﬂﬁ EATT 3T 2023 F iy
:\\‘ ht?ose the most appropriate answer from the
kggptlons given below:
Q;j;ﬁﬁEWﬁm‘fﬁ%mﬁmgmmgﬁ:

(4) UGC (B) ISRO
<(©) NHAI © RBI

“X(E)  Question not attempted / 3R Ty

‘Rising Rajasthan  Global Investment

' qjl*t‘,"Summit’ scheduled for December, 2024, will be
- held at:

i_. 20 :
ﬁfbhoose the most appropriate answer from the

“£Choose the most appropriate answer from the

?‘?-';options given below:

(A) canddonly. (B) aandbonly.
“(C) bandconly. (D) a,banddonly.
{Z(E)  Question not attempted
{ISTEAT o rafieh e &:

NZ . Choose the mismatched pair with reference ¢y

waste managqent. »
Choose the @fast appropriate answer from the 1

options givermlow:
(A) Household source - radioactiv¢ substanceg :
(B) Textilgipdustry - waste fibers
(C) Agriculfiire - pesticide run off i
(D) Medic@ector - infected tissue, syringes i
(E)  Question not attempted ;
mﬁmwgﬁzﬁﬁwgqmwaﬁrﬁmﬁ .
ﬁﬁ%ﬁq_iﬂ'%lN S = _1;
ferefafad fogedl 4 & waifers ugd SR
NA) e R Yot g i
' (B) &I, SfTE Ry
(€) Y - Sfeara
(D)  ferferceter & — Siehftra Ik, geat
(B) Sryafatia
] m "
Which of thé¥pllowing diseases are not caused
by bacteria? ™™ 1_
a Tuber@&'g)sis 1
b.  Polio YO ;
c. Measlecg’)
d Typhois‘
e Malarig)
‘Choose the Amst appropriate answer from the
options 8iVerow:

(A) .c,dand® only (B)
(C) b, cantky only (D) b,cande only
(E) Questf@ not éttémpted

a,bandc only

PR 3 & 2 et e 3
a. Hﬁﬁaﬁm‘:ﬂ'{ﬁ'&'—q)

b, aiferEl

c.  waw (e

d

% ¥ dote ©) s b

(S mb’caﬁfdmi aﬁﬁb,c@ﬁte
(BE)  srgafauy




The country defeated by India in the semifinal of T
ICC MEN’s T20 WORLD CUP, 2024 is:

Choose the most appropriate answer {rom the
options given below:

(A)

©) (D) England
(E)  Question not attempted

% 2w o <omms ot W v A 20 fymw, 2024° F
HHIPTES W G 3w o
ﬁﬂ%ﬁaﬁﬁaﬁﬁﬁwﬁbﬁmmgﬁ;
(A) Siregfern (B)  STFMEETH

YO wEwswher (D) g

(B) ITai@ as

Australia

(B)  Afghanistan

South Africa

The Rajasthan government has started a

programme for the proper management of water
at the local level.

Identify the programme.

Choose the most appropriate answer from the
options given below:

(A)
(B)
<)
(D)
(B)
TTET GO A e o Afa Sea & fore o
T G HRIRH I &3 8
FriEw Y aEEH i

frafafiaa faswedl § § aaifies Jugw I 74:
TTEAT ST G fee

STt whifa AR

quTHAT ST SiaeE

g@ﬂ—,ﬁﬁa e

Rajasthan Jal Sanrakshan Mission
Jal Kranti Abhiyan
Pradhanmantri jal Swavalamban
Mukhyamantri Jal Swavalamban

Question not attempted

(A)
(B)
©)
®)
(E)

Frar 94

TUV-co9] -

Y
|
|

R

4y acrO™

projec! is bU'

The Bisalpur MultipurPOSC " N
which river? : appmlm.aw angwer

Choose the mos

options given below:

(A) Banas

(B) Chambal

(C) Mahi

(D) Jakham

(E) Que.stion not attempted L . iy "
e et & grtfer 3957 S
Ty

(B) T

(C) W

(D) STEw

(E)  wia w4

Which multipurpose project is located at Borkhera
in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)

(E)  Question not attempted

m“ﬁwqﬁ?ﬂiﬂmw :
T feerq & i ﬁ%%

Fraferfiaa et i 4
YA g ufvise
() WIS SIS |
& T e g

S — gz
() srmafagy R

7

Sidhmukh Project
Mahi Bajaj Sagar
Rana Pratap Sagar

Jawahar Sagar

| Q“'ltq
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Support money for small cattle (small govansh)
under, cattle maintained in cow shelters registered
by the state government is enhanced from October
2024 as:

Choose theﬁmost appropriate answer from the
options giv.
(A) %52/ day (B) ¥ 36/ day

©) T22/@ay (D) %38/ day

(E)  Quesfion not attempted

TST TR g Usfisha miemmensiy § w@ 7 gafmt
% i (e i) R e afn
I, 2024 ¥ 39 THR aIGTE T 2

Pttt et 3 & et suges s
(A) T 52% B) T 36ufafe

©) T2 (D) 3sWRRA

(B) ITgatqws

Which one %thg following is incorrect about the
ban on fishing in Rajasthan during June-August
20247

Choose the “Most appropriate answer from the

low:

options given below:

(A) The ‘__:%n on fishing is for full month of
June@@d half month of August.

(B) Fish&pecies grows during the fish breeding
seasom’

(©) Fish %iness, exchange and display is also
banned.

D) Enti)gi July month ban on fishing is
appliﬂsqbl;. ,

(E)  Questi¢n not attempted

-3 2024 % A TSI F et gohe T

yitrerer & afeat fFreferfiad & & @ a1 e 82

frefafeaa [ & & FAifae® 39gw I

(A) ST % QU S ST F T 7E % forg
TS Tehe T s B

(B) el Ay ot Hoct s % e 3

T, T S fawer @

BIGELR-
D) R@mﬁmw@wmmm
RaTT

(E) igafed,

©

TUV-C09] -
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Which of the following countries is the. host of
the “International Conference of Agncultural

Economists” (ICAE)- 20247 |
Choose the most appropriate answer from the

options given%low:

(A) Mayan B) Ne;_aal
(C) Bhutan' (D) India
(E) Question not attempted

FrefRaa & F-aT 3 <P SRR ¥
siaai GEI” (ICAE)-2024 1 35 82

freffaa gt 8 @ waifae I9Z® STHH:
(A) WMER (B) AUTA

©) EH o (D) ¥

(B) ITIaRgFH

From the lisf of the following statements, select
the correct stiféments:

a. The eg\f’grnal appearance of an individual
is called.genotype.

b. The chasacter which expresses itself in F,
generation is called dominant character.

e Such ®jpe of cross in which a single
cogtragﬁg trait is considered is called
monoﬁ%rid Cross.

d. The f&¢for that controls a character is

: called geéne.

Choose the wst appropriate answer from the

options givertgelow:

(A) canddonly (B) a,bandd only

(C©) b,ca only (D) aandc only

(E) Questm not attempted

Fraforfes TRt 6 a=ht 3 &, vt wort o =
w: H ‘
a. ol fE ¥ awr swdEw @ e |

(ST e &) |

™R wm@ﬁmﬁplmﬁaﬁm —
g, FHEATAT Bl

. Hn Rt Rt s s R
ST &, Wh-5h HafoT e &

N E HREST R wramor 3 P & 2,
S et R

e few o ﬁﬁ-ﬂmmw?

(AXFA T d  (B) Fawia, b3k d

< aﬁa%&ﬁ{d (Bf el a AR ¢

() gaiays

[ Contd...
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The plants which are crossed to obtain the
offspring are called: T ’

Choose the most appropmte answer from the
options given below:

L

(A)  Zygote N
. (=)

(B) Hybrids S

© Parental generation‘:)

(D) First filial generation

(E) Question not attemﬁwd

3 9, e vraﬁr ST A & fore wereor s
7T B, e &

o =
W) ITES R o '
: \O
(B) TR b=t
(C) S e
(D) T dar it
‘:1'
(E) AT ¥ >
™

A first class airport at Jaﬁ: in Rajasthan from
where the domestic andCinternational flights
operate is known as- w

Choose the miost appropriate answer from the
options given below: -

(A) Rana Sanga Airport¥}

(B) Sanganer Airport i::

(C) Dr. Babasaheb Am@e&kar Airport

(D) Rana Pratap Airpori:}

(E) Question not attem d

e 3 S i e e Syoft gad s I §
Wﬁﬁﬁémﬁwwmiﬁ
(A) TTOTT GBS STESTe :
YB) wmEdsge

(©) <. s aﬁm%mé argel

(D) T JaTd T gt

(E) Igafa d

TUV.C09] -

forests
Characteristics f Palashl
Rajasthan are: md o .
forests are S
a. These > e

mong
b.  They are found abundantly
' i ;jable-
where plateau land 18 &t)alla i "
c These types of forests ar¢ found 01

Mount Abu region- < .

Otound in the plains

d.  These forests are also’ ’ un o
| ss amoun!

which are pebbled andrlg‘ave le

soil.

answer from the

Choose the most approprt

0602

options given below:

(A) a,c and d only.

(B) a,bandc only

(C) b, canddonly.

(D) a,bandd only

(E) Question not attempt
v B 7 ST TSk T ST o ferderaTd €
3 o o &t 3 St & SRt T T Tt

F21284

a.

g Td HIR 2l -

b, A eifedt % 3T Sl A ST AT H 4R Sd

£. < TR 3 I Shael TSE TS & F U Sy
gl %

4 ¥ e off o S ¥ SEf S § e
EETWWHT'&WSH?@|

ﬁmmﬁwﬁﬁﬁmmmgﬁ_
(A) Facta,c3d N |

~
(B) Facia,b3ic N
(®)] Fael b, ¢ 3d %

\‘P) Faeta, bd =
(E) i@ 54

[ Contgq,,
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Match List-1 with List-11:

List- List-11
(Types of Soil) (Most appropriate
characteristics)

a. Red yellow soil . 1.  Contains a sandy

loam texture

b. Desert soil Il.  Presence of iron
particles
c. Black soil I11. Cannot absorb and

hold much water

d. Alluvial soil 1V. Cheeka dominated soil

aft L - @ i A

el -1 Tt -1

(T 3 ST (et weerqu
fordreay

a. Sdiefiger, 1 Wiel dme v a2

b. AEEIH 1. <ie o5w i Higeh

c. WTEH qET— 111 et TOT U wior &pear
i+ arft STt R

d. Sidie "at 1V. =fish1 yar war

Choose the most appropriate answer tfrom the

options given below:

R e Faesit @ Frifires Juges T g,

(A)

)

(©)

a-1,b-1Lc-1V,d-1
a-1b-ULc-M,d-1V
a-1L,b-1V,c-1,d-1I
(D) a-Lb-1lc-1V,d-1I

(E)  Question not attempted / STTxHE Wy
TUV-C09| &

.-

i
f

\41\ Match List-1 with List-1I:

List-1 List-11
(Lakes of (Cities/towns
Rajasthan) where located)
a.  Ana Sagar I. Churu
b.  Tal Chhapar 1. Tonk
c.  Sardar Samand IIL. Ajmer
d. Tordi Sagar IV. Pali
et -1 geht -1 & gaka i
=t -1 et -11
: (;mnrmﬁ (AT ITET SET
slien) srafeua 2
a. TR A
b. AT BIW . 2k
c. URREHE I TS
d. @ Iv. urelt

Choose the most appropriate answer from the

options given below:

2 e e et # @ waffaes 3ugw s Al

(A) a-1V,b-I,c-II,d-1

XB) a-lLb-I,c-1,d-1IV

Y a-ILb-Lc-IV,d-11

(D) a-I,b-IV,c-II,d-III

(E)  Question not attempted / 31FaRa w5
\42\ What is the difference between compound

interests on ¥ 40,000 at 10% per annum for |+ 2
years when the mterest is compounded semi-
annually and when it is compounded annually?

X 40,000 W 10% aififes =t 1— ™ ¥ skl
St ¥ ST s st wﬂﬁm 6T R 9 Wa

A 2105 N?Y%WL
‘ o
B) % Mg
(B) 110 L
(C) 295 ey
(D) 100 T\SLy
: (E)  Question not attempted / m R
v oy v 4B | o I .,
HiEY sm | R \‘W\(ﬁ%@
PG W R
| oS | TEor:




"

On an average, how many times does an adult
human being at rest in a minute breathes in and
out?

SR it fRorfer F e roreen g v e F i

Choose the most appropiinte answer from the
options given below: .

Frfefea foaepedt 3 & waifets suge s
(A)  19-22 (B) g9-1 1 ’

(C) 3234 (D) 515-18

(E)  Question not attempted / 31':!)?1'&?{ 99

Rapid uncontrolled cell__division or tumor
formation which causes @Jlerable pains at a
later stage are the causes aWymptoms of which
of the following diseases? v

Choose the most appropriqfe answer from the
options given below: &)

(A) Swine flue (B)mHemophilia

(C) Hepatitis A (D)~ Cancer-

(E)  Question not attempted

e st wifte fre sreEr s (@

Fmtor faw e 7 sraea &'%ar 2, 3 fmfafad

T & fore T 3 HROT ST T ey
Frrafefea faeedt § & watfirs suges s
(A) TEETRL (B)

© wWeRREA  ©) g%m

(E) Iuiawd )
Examples of infectious diséades include:
a. Cancer b. Cholera

C: Arthritis d. Swine flue

Choose the most appropriate answer from the
options given below:

(A) a,bandconly (B)"* a, bandd only
(C) b,canddonly (D) and d only

(E)  Question not attemp,

TehTeR UMY o SaTEW ¥ |itgferd &:

a. FaT (-

b. &S () |

c.  mfsar emiusfa)

4 @ 0

<y for T fereredt & wartters suges 9ot Tl

(A) FacTa, b3 c ®) "\ Faera, b3 d

(C) Fadb,c3ANd (D) b3 d
(B) IigaRa 4 O
TUV-C09] 4 ©
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0,
4 The cost of a commodity increased by 20%,

then

- %. B
a family reduced its consumption by 20%. BY

: the
what percentage will the expenditure ._Q‘f )
family on the commodity increase Or decrease

(A) 6% increase [y i
(B) No change : d
(C) 4% increase 3
(D) 4% decrease L0

9
(E)  Question not attempted

et o 35 e 8 20% o1 g 21 T T TRAR A
e B 3 20% it et S I T TIRER

%aﬁmmﬁﬁwﬁmq@mwﬁl
@) 6% =4
(B) I3 uftad= &t ™~
(©) 4%3fg i{«;
L 4% et !4
(E) Agaia s

By how much 77%% of T 300 exceeds T2107?
2 300 T 775%, X 210 ¥ forem aifr 370

A) 233 ®) 23 =
-

© 13 (D) 9 &

(E)  Question not attempted / TR T2
O

~
Every month Navin spends 60% of his Séla';-y on
household affairs. He sends 50% of the remaining
to his parents and spends 50% of th?‘ still

- remaining on family outings. Still he saveg &értain

amount, then what percentage of his sa‘lfi}y he
saves every month? v

ﬂaﬁmn@ﬁmaﬁwmw%uﬁ-@@%m
AT | TE A HT 50% 3T AR Yy 3y
%ﬁtwmﬁwmw%wﬂm%mm%}%“
S AT 81 AR 7w 3t ft 5 o B e

HTAT &7 1_.-‘.,;‘
(A)  12% B) 6% vl
©) 8% o) 1%

)
(E)  Question not attempted / aﬂ'ﬂﬂﬁm)

'



& .. Name the law Minister of Rajasthan State as on \§L Name the Chairperson (as on 30 September 20‘.:

September 20249

Choose the mosy appropriate answer from the
options given below:

(A) Bhupendra Yadav

(B)  Jogaram Pate]

(©)  Arjun Ram Meghwal

(D)  Bhajanlal Sharma

(BE)  Question not attémpted

W2024%a§mmqm%mﬂsﬁaﬁq '

3
ﬁﬂ%%aﬁmﬁ@rwﬁéwmmaﬁ
(A) P

B) STRE g

© W dvEre

®) s ymt

(E) Igaiaws

Among the following MPs of the Present Lok
Sabha, who has been elected the maximum
number of times to the Lok Sabha?
Choose the most appropriate answer from the
options given below:
(A) Shri Ummed Ram Beniwal

- (B) Shri Gajendra Singh Shekhawat
(C) Shri Dushyant Singh
(D) Smt Mahima Kumari Mewar
(E)  Question not attempted
freffia § & 1 SAAH ST wEe G
1ferer s SreET 3 fore faifaa gem &2
frfafaa faencdl # @ @aifas I9gw® I IH:
(A) =it 3 TH ST
®) s fie dEEa

~O) shgwmafiE
(D) eﬁu?ﬁtri%mmm
€) R '

TUV-C09] 4

- (D) Shakti Kanta Das

of SEBI? |
Choose the most appropriate answer from th
options given below: |
(A) U.B.Sinha f‘
(B) Ajay Tyagi |

(C) Madhabi Puri Buch

(E) Question not attempted . :
&eft (SEBI) % a1 1 87 (30, Rrava 2024
forferfaa forehed! 3 & waifard 3ugw I TH:
(A) 7 . R
B) IR
(©) s gl =
(D) itk hid I
(B) i aRdvd

In which state NLC India limited (NLC) has
secured - 810 MW Grid connected solar
photovoltaic project October, 20237
Choose the most appropriate answer from the
options given below: |
(A) Tamil Nadu

(B) Madhya Pradesh

(C) Rajasthan

(D) Sikkim

(E) - Question not attempted
T T 4t e fafins (NLC) ¥ 7R, 2023
mmﬁslomﬁgﬁmﬂﬁ; Sifees
forreft aftiter wrftrer 1o 3

[ Contd...



Where did the Indian Air Force conduct the
“Exercise Vayu Shakti -249”

Choose the most appropriate answer from the
options given below:

(A) Alwar

(B) Pokharan

(C) Dholpur

(D) Tonk

(E)  Question not attempted

wmﬁaa’rgﬁmﬁ“mmgsrﬁs-zwmﬁ;m
ﬁw%@aﬁmﬁﬁﬁwaf&mawgﬁmgﬁ:
(A) AR

B), T

(©) R

(D) 3%

(E) orgaia wsy

In December, 2022 where was the first Sherpa
meeting under India’s G20 Presidency held?

Choose the most appropriate answer from the

options given below:

(A) Bharatpur (Rajasthan)
(B) Udaipur (Rajasthan)
(©) Bikaner (Rajasthan)
(D) Ajmer (Rajasthan)

(E)
fege 2022 & v At st-20 AeTerar 6 g ST

Question not attempted

N3 el ARSI I T o2
frferfae forsredl § @ waifare sugw v
(A) AL (TSTEAT)
NB)  SRAYT (TSEA)
(C)  fierTT (TRTEIT)
(D)  SASTHT (TSTEAT)
(B) Irgaia ¥4
Uv-co9] &
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St National
held in

Who won the women’s title in the ‘51
Women’s Carrom Championship’
Madhya Pradesh?

Choose the most appropriate answer from the

options given below:

(A) K. Sriniwas

(B) Rashmi Kumari

(C) R. Arokiraj

(D) Ravivarman Sharmila
(E)  Question not attempted

Ter W § e cs1ft o afeen S
SR =51 faars fre st _
freifafiaa feped 3 & waffres sag STCT:
(A) & hfem  B) WwFAEd

(C) W FS (D)  Wad wifdfar

(B) Agaiayud

Folk Dance Terahtali is related to which of the
following states of India?

Choose the most appropriate answer from the
options given below:

(A) Bihar (B) Jharkhand
(C) Manipur (D) Rajasthan
(E)  Question not attempted

AT Ak T W ¥ forer s @ wraifoura 292
ﬁm%f@aﬁmﬁﬁwﬁammwg%
(A) frEr T (B) @S

(©) =forE D) TSEE
(B) rqafaws

The term such as Udaishahi, Khanjarshahi,
Shivashahi and Vijayashahi etc. are related to
which costume of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Dupatta (B) Turban
(C)  Angarakhi (D) Dhotis
(E)  Question not attempted

IS, TR, ﬁmmﬁ@ﬁsmma
TSTEA o forer it @ Heiftrg 89
mmaammw
(A) Tuer @ Tt

(C) siEh (D) ot
(E) SAgafta ws

Eﬁl

[ Conggq




; . | both in the Men’
\5. Name the main instruments of the Kalbelias. &1\) India won gold medal bo. !

Choose the most appropriate answer from the Women’s categories in which of the foll._
options given below: FIDE CHESS OLYMPIAD  held
(&) Pungiey (B) Algoja September 2024 at Bufpest, Hungary?
(C) Ravamtha (D) Sarang] Choose the most apﬂ(ﬁpl‘lﬂte answer ﬁ'“
(E)  Questioh not attempted eistions e BELOW 3
CAREIR e T T AT §q15U) (A) 47 o
'Isliai'ﬁ@ﬁaﬁmmmaﬁ - . 3
(B) 44 )
» . Pl C) 45t o
©) m%a ©) 4. -
E) ?ﬂfﬁﬁﬁ e » (D) 46!
< (E)  Question not atfefpted
\5\2 The ratio o@he present ages of the Akshat, framr 2024 # @ l'!g 3"1'& i .
Bhuvan, Sagdgep and Varun is 7:9:10:13. The “HIFS AT ﬁﬁﬁlﬂﬁl # R T g6 3T
eldest is 12 Yehrs older than the youngest. What ' aﬁmﬁﬁﬁﬁmm
will be the a%of Sandeep 5 years from now? ¢ mﬁmﬁwww -:ﬁi
(A) 20 years (B) 30years (A) 47 =i () }
(©) 35 years (D) 25 years (B) 44
(E)  Question not attempted ©) 45
3TE, Yo, YT T %1 Y a7 ¥ ST O a6H <
7:9:10:13 %l%émw e lzaﬁa@ b il g\)l
%la'qﬂvﬁaﬁﬁsahmmwérﬁv TR i
(A) (B) 3038 ' \&2 Manu Bhaker, an Indjag athlete is related to|
© D) 2539 : sport of: - ;
(E) Choose the most ap@p‘o riate answer fro u:’,,
» options given below: 1
\\Qg)\ Grass-eating animals quickly swallow the grass (A) Boxing
and store it 1@ part of their body called: (¥ L Taveltn theow g
Choose the W” appropriate ansvyer from the (C) Shooting o
options givepdiclow: ' (D) Badminton
mastnh B) Rumen
A O (B) . ' (E)  Question not at@lpted A
(C) Oeso@gus (D) Small intestine |
(E)  Question not attempted i O et |EM1%FH@E?{W&H
T @Y AT gy S § O et G 59 I T 'E":”%”igv q Wﬁﬁ%ﬁwmm I
mﬂﬁwmﬂﬁ%l 39 AT 1 FEd &: (A) St «f
frefafiag fied § @ @aifas sugw I (B) SaeftT it 0
il BN =W © N
) ey B D) ey o
(©) TE ¢y (D) . o
(E) mgirm%f ‘ (E)  rgaia wy 8
14
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ajya Sabha 5

K How muny‘membcrs are therein the R ints of

A Shopkeeper allows successive discou
representing Rajasthin State (as oh September 10% and 5% on every item. He allowed an

2024)? additional discount of 4% to his friend on an item
marked.at T 20,000. How much his friend P“ifj for
the item?

S IR STedieh o 9T 10 T 5% i B 22
30T 21 3 19 firt Rt sifeRa e 2 20,000 Y FE]

Choose the most appropriate answeér from the

options given below:

(A) 8 members

(B) 20 members gt 4% 1 sfaftn ge i sud fier § 3@ A€ A
~ (C) 10 members feberin e sy
| D) 12 b (A) 16,512 (B) 16,200
: Z mem S
| i | (€C) 16,320 ) 216416

(E)  Question not attempted

(E)  Question not attempted / SAFART T4
TSTEAT T3 8 T8y 3 fore wreeit o wfffereg '

(Faaeat 2024 TH) 27 \6\(: The Human alimeéntary canal consists of: -
B a. Food pipe/ oesophagus

frefcrfem forsredt & & aaifares suaws sav . :

: @ S b. Stomach
(A) 8qs& C. Liver
(B) 2093w d. “Intestine

\N) 10 geeT . Rectum v ‘
Choose the most appropriate answer from the

(D) 12¥3=

options given below:
(A) a,band donly
(B) a,b,candd only

(E) ol vy

A shopkeeper sold an item forX 765 after allowing (©) a,b dandeonly
. : (D) b, c,dand e only

a disc - of 15% on the marked price. What . .
 discount ot 43¢ p (E)  Question not attempted

would have been the selling price if he had ws ol SRR A B &
allowed only 10% discount? sa. TEHt
Uk GG 3 3T e 9T 1 5% e 2 GO A b AR
IR | c. =
2 765 1 A afe 36 Faet 10% T2 A A, @ "
forstar wyeer oo @ieT? 2 o Hemm
(A) 2816 t ﬁﬁqmﬁﬂﬁ@mmﬁ?ﬁm;ﬁ
' ™). Faw a, b, caMtd
© XA : © (C) Fadta,b,d e
\‘*Q) e810 (D)  FaAb, ¢, d 3T e
(E)  Question not attempted / SFRE 54 () srefed us
UV. o9 | - ; 15 | Conig
o | -
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Match List-I with List-I]:

F

3. Blgod plasma L

v~
@Fmoglobin IL
o)

Q

 List-II
Cells are suspended
in it.
Binds with oxygen
and carries it to
different parts of
: the body.
c. %ite blood cells M. Clot formation
d. 1§ telets IV. Fight against germs
TEll-L 6 Wrer ref- e e

-1 R - i
a. ?gwm I hifhTd gad
feifera St 2
b, RN 1L s s
BT 30 YRR &
g{(&c | T3 it & gt &
- & HITRTEIT TI1. o fomtor
d. ‘weem IV. MopAt & S
Choogg the most appropriate answer from the
optiogﬂgiven below:
ﬂ%f&mﬁmﬁﬁﬁw&%ﬁwmgﬁz
(A) a-ILb-Lc-IV,d-II

=#By—wg-Lb-1I,¢g-1V,d-1III
©) W-ILb-1v,c-1Ld-1I
D) g_g-l,b-IV,c-I]I,d-H
(E) ('Question not attempted / STTaRd T4
)
Accokgng to Census 2011 which of the following
stateslgas a population less than Rajasthan?
(A) *@disha (B) Maharashtra
©) UBihar (D) West Bengal
(E) f uestion not attempted
201 1) SFTORT 3 STFET feAforfed & fobe Troa
i SR TR & A ofi?
(A) : B) W
©) frr (D) Ot s

® S

16

g

' ©

According to the 2011 Census, the sex i/

Rajasthan was:
2011 S SFTURAT 3 STTAT TSI H foi
oT: ‘

Choose the most appropriate answer from ¢
options given below: :
reffaa fereedl & & TSI U7 I,
(a) 877

921
(E) Question not atternpted / NG Ty

According to Census 2011 which of the followiy
states has a lower literacy rate than Rajasthanf
Choose the most appropriate answer from

options given below:

(A) TamilNadu (B) Goa

(C) Bihar (D) Nagaland

(E)  Question not attempted - :
SETUAT 201 1 % AFER FEfofad & @ fra o d)
HTETAT T TET & 7 82 '
e fe e et & ek S S gh

(A)  dfEETg @) i

(C) fEr D) e

(B) STaiayy

respect to its population size?
Choose the most appropériate answer from the
options given below: . | s
(A) Ninth (B}
(©) Fifih g

@

Seventh
Eighth




2

which of the following statements is not correct
about Rajasth oad Vision 20257

Choose the most appropriate answer from the
options given below:

(A) Al the%ﬁuages of Rajasthan shall be

broughtunder the market economy through -

this programme.

(B) Inthe first 15 years, all the villages will be
connectediwith roads.

(C) It was (prepared by the Public Works
Departtt@ﬁt of Rajasthan.

(D) After 15‘="5$ars of Road Vision, in the next
ten yeag\a flyovers and four lane state
highwax\ij;vill be developed.

(E) Questionnot attempted

eI SF S (Vision) 2025 ¥ R H

freferfiaa § & -1 o el T &

fraferRaa ﬁ%ﬁﬁﬁ%mﬁwmwaﬁ

() T R 3 T T el e A
TSR STfeyaeT & Faia AT Sem

(B) UEA lsg’fﬁmﬂfﬁ?ﬁﬁ@@@@
1L IR

(C) € TSI ¥ < Frmtor fvmT g0 dER
feram AT am

(D) e e 15 5 S 10 79
TSRS T A TSt TS HEHRT T

e

od of a cow is:

(E)

The Gestation %\1
Choose the m@ appropriate answer from the
options given below:

(A) 194 dayS¥ (B)
© 281days® (@)
(E) QueStIOI‘I__qot attempted
T <l TR ﬁmﬁl &

320 days
101 days

(©) 2811%#0 @) 101

17

\I{ Antibiotics are productsof ________

e
Choose the most appropriate answer from th

options given below: «
(A) Parasites and bacteria : ;
(B) Fungi and bacteria ::
(C) Fungi and viruses 5;
(D) Bacteria and viruses fh’f :

(E) Question not attempted

s (cdarnfe) T e
e faemedt & aammw I
(A) qefiet s Sfamy(B) | FAE I Sfrary]
(C) s A fwm (D) sﬁa’rﬂr i foremy

(E) Hgaiasd ff;:‘z*

Match List-I with List-II:
List-I (Revolution) List-II (Related t0)

a.  White L F"ﬁ'mery

b. Blue IL. Agglculture

c: Yellow 11I. b&’i}(

d. Green IV. Oil’seeds

-1 3% A gEfi-10 wﬁmwrﬁ%q

i1 hife) -1 (@ fia ?)

a. aqq L e

b el II. ﬁ

c. diedt IL. ;. ;

d. &fa v. @1}%?

Choose the most appropriate gnswer from the
<

options given below:

H R frehedl & @IS ITGH I

(A) a -\HI,.b -IV,c- I,\d - II@Q

B) aNILb-Lc-IV,4-ILY
© a-I,b-III,c-II,d-Iv;:;j
(D) a-IV,b-T,c-TLd-E3
(E) Question not attempted [,%‘:ﬁ&a sy

[ Contq,




N6 The price of milk is fixed on the basis of the |
content in it

Choose the maost apprepriate answer from the

options given below:

(A) Carbohydrate
(B) Lactose
(C) Protein
(D) Fat
(E)  Question not attempted
9 1 e 8 Fuferq EIRIEIE B
W e s 21
Freferfan fosped & & affre sugw s =+
(A) FrterEge
(B) <%
(C) WA
D) aEr
(E) gaiaws

\77 Extra feeamg of pregnant cow should be done\|
after of pregnancy.
Choose the most appropriate answer from the
options given below:
(A) 20days
(B) 1 month
(C) 3 months
(D) 6 months
(E)  Question not atlemplcd»
migdt T ® Afafes diem o mafaen &
_ uyq femsmr e
frafafaa fasredt 3 @ watfas sogw swa:
(A) 20f
(B) 1H&E
(C) 399
W) 6"
(E)  3igafd wa

\Y{ Which of the following salts in *mineral mix

TUV-co9] ¢

s e

- prevents poitre in cows?
Choose the most ap[)r()priate answer from the
options given below:
(A)
. (B)
©)
(D)
(E)  Question not attempfed _
Freafeafa i & @ o b frsor § frem
A R rger (duT ) B S=E Sar 27
Frafafaa fawed § @ @aifas suges so T
(A) wifegy e
_(B)  idIieE FATTS
(©  dfemeegEs
(R Rfiem sehess |
(E) o¥diE v

Sodium Carbonate
Cobalt Chloride
Sodium Hydroxide

Potassium lodide

The highest milk yielding breed of a cow of
@

9

lndlan orlgm is:

Choose the most appmpnate answer from th

options given below:

(A) Tharparkar §
~(B)  Sahiwal
(C) Sindhi
(D) Haryana e
- (E)  Question not atlempled
ﬂmwﬁmm%ﬁmmﬁm?“
Fereafefier oo & erartfires 39gw a0
YA) AU
(B) HwEEe
(C) fo=dhi
(D) ef@mn
(E)  oruitd wy

| Contd...



dentify the colour change that takeg place wh
we put an iron nail for ap hourin "

to ablue coloy
copper sulphate solution ip, it. 3
Choose the most appropriate angyer

options given below:- from the

(A) Itchanges to a ¢olq ess solution.
(B) Itremains blye. H 7
(©) It changes to orang€bioyr.

(D) Itchangesto a greefiish colour,

(E)  Question not attem

et et 3 & warfies suge
(A) %Wﬁamﬁqfﬁ“}m%l
®) IfhAwE o
(C) U TT &S T AT ST 2
(D) ST T St L &0 &) SirerT )
(B) AIaiawx
81  Match List-I with List-II: L
S List-I €0 List-I1
a. Stainless steel I “ Non metal
b. Gold II. by Metal
C: Sulphur ¢y Alloy
d. Magnesium IV Inert metal
Tt TG I & AR
et -1 et -11
a. g . g 3EIg
b. Ul 1. €0 =g
c.  "EWL 11N forsgeng
d.  iAfem IV&} SRR
Choose the most approptigte answer from the
options given below: 0
A3 R e forepedt 3@ 377 T
Cé’a) a-II,b'VIV,C-m’,,,%,'I
@P’ a_H’b..‘I]I,c-IV{gJ-I
(C) a_m,b-IV,c-II;_‘dq-I
) a_Ig,b;-N,c-I,ﬂII ,
(E) Questionnot attempted / A T
\1®)
TUv-co9] & S

19

f
&2 Which of the following is not a property ©

metals? 5

A e
Choose the most appropriate answer from
options given below:

(A) Most metals are rr;;{_;eable.
(B) Metals are SOnorops;
(C) Most metals have low melting point.
(D) Except lead most metals are good
conductors of heat:”
(E) Question not atter:ii{)ied
fraferfaa & e frdt arg GBI AE 87
frefrfaa fedt 3 & waffires F9gw I G
TA)  SAfreRieT aTqe e gt 8
(B) Ty eATfeh &t éf :
Osy  tfrenieT emgedt & mo FHEA B
) A e R g S g
Bt B s
(E) SAguiawd W3

§5

The famous song of the Bhils of northern Mewar
is: '
Choose the most approg;lfiate answer from the

options given below: ;i

(A) Maand B); Kurja

(C) Mumal (D){ Humseedo

(E)  Question not atterhpted

I s % it b wftrg At &:

freferfa forehedi @ & wdifre 3ugw ot I
(A) #ie ®) P

(©) e THHIET

(B) gafawd %

. oy R
‘Dhol dance’ is associated with which area of
Rajasthan? -

Choose the most appro;g;'ate answer from the
options given below: (7}
(A) Jhalawar (BY' Jalore
(C) Sikar (15)3 Jaipur
(E)  Question not attempted
Freafefm et 3 & vl 3uge s g,
(A) wrTETS ) SR
(©) i @) SR
(E) Irgafa sy &3
¥ )

&9
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P i

\95\ When was the first battle of Tarain fought? '~
> Choose the most appropriate answer from the

88  Who invented the musical instrument

“Mohan Veena™?

. . Choose the most appropriate answer from the
options given below:

’ . below:
(A) 1194AD.  (®B) 1191AD. 7 glan eSethi
(©) 1192AD. (D) 1193 A.D. (A) Ilzr. : (.:hand e e
ur
(E)  Question not attempted (B) P

TS T Ige TS ST T (C) Jagjit Singh

Frafafas Rreedi ¥ aqiferes 3ugw ST - (D) Pt. Vishwa Mohan Bhatt

o = (E) Question not attempted
(A) 119412:. (B) NJ91 Q.i. \%wmmmmmw
21(5:)) ;l:mgzﬂisr% ® HmeE forfera feredt 3 & gaifir STgw 6 IH:

(A) TRFBFG (B) FLTEFo
(C) it fiw D) 4, fog o v

\{ In which year was the Kota Rajya Praja Mandal E) e v
setup? SRS -
. i } i 2011, which of the following
I TSI IS oot ot wTqT oy o 3 L \8{ According to Census whi

districts of Rajasthan had the lowest population:

Choose the most appropriate answer from the
e growth rate during the decade of 2001-2011?

options given below:

C : Choose the most appropriate answer from the
frefelaa foehedt & @ aaffores sugw st :
Ay 194% , 942° ~ options given below:
(C) 3 R ” (A) Jaipur (B) Barmer
& @ .19 (C) Kota (D) Ganganagar

ion AN I ;
(E)  Question not attempted / q . (B)  Question not attempted

. _ _ 2011 STV % STTER 2001-2011 3 37k % SR
\82 A part of integration, when was the Rajasthan Wﬂ%ﬁnﬁl‘f\@ﬂﬁﬂmﬁiﬁmﬂﬁ

Board of Revenue established?

T Aaw off?
Choose the most appropriate answer from the : aﬁ%&qnqﬁm‘rﬁ@rmawgmmiﬁ
options given below: (A) SR (B) TSR
(A)  December 1950 - © wE ~D) TR
(B)  September 1948 (B Efawy

(C) October 1947 \90\
(D) November 1949

(E)  Question not attempted

FHIHSH o AT & §9 8§ TRAH Toreg 91 6y

As per the Census of 201 1, the population density
in the state of Rajasthan was persons
per square km. ‘

2011 ﬁmﬂm%:ﬂw, TSI TS T SHEEIT

T T G2 LR ___=afw i et [

ﬁw%hﬁﬁﬁﬁmmwgmmﬁ Choose the most appropriate aiqvj:nfrom the

(A) feEw 1950 . options given below: =

B) fawar 1948 | Pttt et f & wratfares swages e .

(C€)  FER 1947 (A) 211 B) 165 )

D) TR 1949 Q) 201 (D) 325

(E) aqgﬂf{agﬂ' (E)  Question not attempted / Nﬁﬂﬁa&r&r

TUV-Co09] q} 20 [ Contd...




DN The place from where the Banag river originates
is known as:

b=

Choose the most appropriate answer
options given below:

from the

(A) Bheroka Math

(B) Mountain of Nagg

(C) Minda

(D) Janapav hills

(E)  Question not attempted
mﬁaﬁﬁﬁmia—a’mm%:
frafaRad e 4 4 A e Iuges 3ot -
(A) WHH ) TR
©) qu) ST qaTe
(E) AgaRa g

Which river of Rajasthan originates from the
place Minda of the mountains of Vindhyachal?

Choose the most appropriate answer from the
options given below:

(A) Bangangariver (B) Luni river
(C) Mahi river (D) Chambal river
(E)  Question not attempted

TSI T p-HT 77 fearaet yda % fyver o

 foherdt 22

frefefa foskedt # & aaifire sugw s :

FA) wwmmad (B) g

() HEeEr @) = TE

(E) IgaRawd

Which of the following is the biggest artificial »&
lake of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Udai Sagar (B) Jaisamand
(C) Didwana (D) Pichola
(E)  Question not attempted

frafefaa & & TSEUE it geR S HHW A

H-H 82 | _
frrferRaa fasredl § & @affie Iugw 3T A:
(A) IFEOR  B)  TEAEHG
(©) Jeamr (D) foorer
(E) orqaid 94

TUv-co9| < 2l

. ikas
By which of the following month are Raik

known to move for pastoralism?
: the
Choose the most appropriate answer from

options given below:

(A) August (B) June

(©) July (D) October

(E) Question not attempted .

T, Freferfaa & @ e wd i wypemor 3 AT
TS E? '

frafafaa fered § & aaffers Iuge ST

(A) 3FRd ®)

(©) T W) I

(B) aiawyd

The Bengal tiger is found in:
Choose the most appropriate answer from the

options given below:

(A) Desert (B) Mountains

(C) Delta area (D) Plateau

(E)  Question not attempted

SIS ST ITT ST &

Feferiaa foreredi & & waffare suge o o

(A) TEEIAH (B) vEET&ATH
NQ) A RIER:) (D) WBRH

(B) SAgaia s

Which of the following states does not share its
boundary with Rajasthan? -
Choose the most appropriate answer from the

options given below:

(A) Haryana (B) Uttar Pradesh
(C) Maharashtra- (D) Punjab
(E)  Question not attempted

Frafafea & & Ha-ar usa = F gy o7t
HHT I AT T A

ﬁu%ﬁgaﬁwﬁﬁ%waf&wmw:ﬁ:
(A) =f@mr (B) WY
(Q) Wenrg (D) U™
(E) Srgaia s
[ Contd...
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\{ Rajasthan shares its North Western and Western

boundary with which country?

Ch?ose the most appropriate answer from the
options given below:

(A) 6'i?“'fghanistan - (B) Nepal

(C) “Pakistan (D) China

(E) Question not attempted
TSTET S70t Ser it i afindt whiar foha 3o 3
e et f & Fratfares sage v 3

(A) éirswrrﬁmn (B) AUt
Q) HifeREH D) ==

(B) aid 94

The Seuth Eastern Plateau region of Rajasthan is
also known as:
Choose|the most appropriate answer from the
optionsdgiven below:
(A) (Mewar hills
(B) £Hadoti Plateau
(C) “Bundi Plateau
(D) “Bundelkhand Plateau
(E)  Question not attempted
TSEYT 3 gfeor gt Uart &5 1 58 T & off S
frafifea faesedl § & watfies 3ug® ST TH:
(A) Wewrd By ERERI R
(C) Efwer (D) TGS YSK
(E) @;;o e
Which{iof the following National parks of
Rajasthan is included in the list of World
Heritages?
Choose the most appropriate answer from the
optionsigiven below:
(A) {Mukundra Hills Sanctuary
(B) (Keoladeo National Park
(C) +Rhnthambore National Park
(D) ‘Sariska Sanctuary
(E) ¢ Juestion not attempted
e T T S fo foma = A

rTfiyet feha T 82
Frefafiga forered 8 & waiferss Iage 3ot T
(A) ;* TSl TR0

TR)  perIed T S
(C) Tt s Su
)

(E) Sfgafa o4

TUV - C09Y >

NS

100

Q1

22

~(B)

Q@ ©

In Rajasthan this soil is displaced by winds, lack,
in fertility and has more salinity.

Identify th%oil type.
Choose thgwpost appropria
options giverl below:

(A)  Alldvial soil

(B) Latq({:l?? soil

(C) Desérbsoil

(D) Black soil

(E) Question not attempted

ToreT # @ a1 9 2 freonfua BT ®, W
ST o QT A B 2l

a1 T TE '
: (N

te answer from the

(A) SClGHaT
(B)

NC)  HEEISAT gaT

(D)
(E) raia 9%

tN
In 2023 th@

Rathore was given the Arjuna Award for th

ajasthani player Divya Kriti Sing|

game of:- W
Choose the most appropriate answer from th

options given below:

(A) Shosting
Pol(§m

Equ:égrian

Equestrian Dressage

©
(D)
(E) Quegt:i’on not attempted

2023 % e fesaadt fie tete w1 319
e for et o fort feam
ﬁmﬁﬁ@aﬁfm i & waifire Sugw ST
(A) '
(B) e
(D)
(E)

TSR w8t
STIREH a7
[ Contd.



ﬂé Who among the following from Rajasthan was \\HE Match List-1 with List-11:

awarded Padma Shri, 20247 ‘ List-1 (Festival) List-11 (Place)
Choo§e the most appropriate answer from the

a.  Summer Winter 1. Bikaner,
options given below: Festival
(A)  Shri Laxman Singh b. KajliTej M. Jhalawar
(B)  Shri Lakha Khan Manganiar ¢. Kolayat Fair 11l. Mount Abu
(C)  Shri Moolchand Lodha d. Chandrabhaga Fair 1V. Bundi
(D)  Pandit Shri Laxman Bhatt Tailang - aft-1 3 g g1 o firer it
tt Tailang .
(E)  Question not attempted geft-1 (@ER) TEt-11 (FAF)
S IIE %mﬁﬁﬁ%@twaﬁwgoz4ﬁ a. Iﬂ‘q:éﬁ'(!lﬁﬂ 1. et
I HERRC R IRIC ) b. eherett @t 1. S
frfefiaa et # & waffres sy sac c. IITEd Hell . e 3T
(A) i e fie d. ST A V. S
B) i et @E i ' . Choose the most appropriate answer from the.
(C) L RECRS L optlons given below: 3
g = ST TS i farepedt # @ wafferes Iuges 39U
) o y ;ﬂ%ﬁqrml b-1 n,d-1v
©) smeawE A) a-Lb-lLe-lild-
a-1Lb-Le-1,d-1V

) a-IV,b-lLc-1Ld-1I
W) a-lLb-1V,c-1,d-1I
(E)  Question not attempted / SITTRT 54

103 The National Service Scheme (NSS) a Central
Sector scheme of the Government of India is
under which of the following Ministries?

Choose the most appropriate answer from the \IQ Which of the following is not a wildlife sanctuary

optlons given below: of Rajasthan?

(A) M;mstryofWomenandChlldDcvelopment Choose the most appropriate answer from the

(B) Ministry of Education options given below:

(C) Ministry of Social  Justice: and (A) Van Vihar wildlifé sanctuary
Empowerment (B) Sajjangath wildlife sanctuary
(D) Ministry of Youth Affairs and Sports (C) Ramsagar wildlife sanctuary
(E)  Question not attempted . (D) -Parasnath wildlife sanctuary
ol [T AT (. TH. TH,) A LI EIRC] (E)  Question not attempted
Sty s <ot aiverT 2, 7 Freferfiaa @ @ fora samei ﬁﬂ%%ﬂﬁﬁaﬂmmawvﬁamwmm
% s 27 WS
g fraedl # @ aaifere sugw Iat I frrffiaa faeet # @ watfirs sugw v,
(A) wfec ud are o s (A) & faer a=r sfta anvemer
By R AT (B) HSSHTG A St oo
(©) iR =T ST sfu e (C)  THETR a1 St S
(D) T e ST AT HArer ~D) AT a2 sfte s
3 ®) Pa— (E) orgaita g : .
TUV 09 | 4 ’53 | Contg,,,
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‘Statio Shiv Shakti’ or ‘Shiv Shakti Point’ is the
name of* A~

Choose the most apm)priate answer from the
options given below:

(A) The landing &e of Chandrayan -3’s
Vikram landerey
An Indian Poirfn Atlantic Ocean
A Space Statiopon Mars
(D)  An Indian Station in Antarctica
(E)  Question not aftémpted
FA AL B S S ——
Frfefad et § Xgaifaes G ITW -
NA) SEAR-3 o o Stet @ S ot
(B)  IFeifew HermliR # ush vy fire
©) AR SRfwmem
(D)  siersfes i us Mty S
(E) gai@awsy
Which monument is known as the “Hawa Mahal
of Jhunjhunu?” <

Choose the most appropriate answer from the
options given below: '

B)
©)

(A) Khetri Mahal &N

(B) Jaswant Thadat

(C) Jagmandir pala;

(D) Lalgarh palace

(E) Question not attempted

HI-HT SARA “GgL Hl eI & 9 § foreama 32
frafeer fremedt o Sage ST
@) wagiasd ma). ELESRE

(C) SEfIITE (D) derTE do
(B) JAgEi@sd O :

Where is the Gagron grt situate_d?

Choose the most appropriate answer from the

options given below: ,
Jhalawar

(A) Bharatpur o6B)

(C) Alwar @) Karauli

(E) Question not attempted

TR fope et 9 Rl 27

Fretferfia et & IIgw F G
(A) AR R T

(C) IR D) FH

(B) rgaia 94

TUV-C09]

\Q

\{l

) Ty TEn B) ITHTER

What did Dr. P. K. S(tFi co-invent

Ramchandra? (48] )
Choose the most appropridte answer from

options given below:
- (B) ¢Jaipur elbow

(A) Jaipur foot .
(C) Jaipur wrist (D) Gaipur knee
(E) Question not attempte

<. . . w%m%m%lﬁaﬁw
feram?

Fyeferfiae fepedt 3 & TG S IH:
a) W (B) _yAEEE
© vagFE  (O) (FIEET

(E) afayd 8

Maru Raikas of Rajasthan 4¢d basically:
Choose the most appropriate answer from
options given below:

(A) Goat herder (B) ¢XCamel herder
(C) Sheep herder (D) ﬁatﬂe herger
(E) Question not attempt@q

TSTET o AT T3 a4 a4

frafafes e g a IqGH I

(C) WFI@R (D) 'J#ﬁ%aw%
(B) Igaiaws &
N

Banjara, a well known gf'(?llp of graziers
found in the villages of : =)

Choose the most approprigte answer from th

options given below: o
(A) Goa (B) Bihar
(©) Rajasthan (D) g'j\ndhra Pradesh

(E)  Question not attemptedy ‘
SIS, SRETE Bl T g wvyed et

91T ST 8| N

P et & st s ww
(A) T ®) Cfrer

© TE (D) AT TR

(B) Iguiawy

[ Contd...



@Under which section among the following Zero

@ Which of

FIR comes in Bharat Nagrik Suraksha Sanhita
2023 (BNSS)?
R AR dfear -2023 (&t @ Ty
Frafafaa §8 fra ara 3 siarta Y TF 38 3T
e N

Ch s i
oose theoqost appropriate answer from the

options givéa’below:
Frafafaa |5 & watfers Juge 3 TA:
(A) 191 ;
B) 170 <

(© 173 ?\I)
(D) 178 ¢
(E) Que%n not attempted / STTARA T4

\O

t@ following Rajasthan state projects
has been gtahted the National Project status as
updated in %ﬁy 20237

Choose thq:.’wst appropriate answer from the
options gi\@tl below:
(A)
(B)
©
D)

Eastgrm Rajasthan Canal Project
Gonfukhi Medium Canal Project
Upp%Rajasthan Bhadra Project
Anafidpur Barrage Canal Irrigation Project
(E) Quegﬁl)n not attempted

Frerfer e e e o T AT
2023 ﬁuﬁ%wmmmaﬁﬁm

™R O :
Frerferfiaa faspedt i & watfirds 3ugw I

\135

. 25

(©
(D)

|
'Ii\ Select the incorrect pairing from the following’

feed stuffs and their accompanying description:
Choose the most appropriate answer from the
options given below!

(A) Feedsrich ir%parbohyd'rates - Barley

(B)
©
D)
(E) Question nogtempted

frefafaa sma amfl o S o R § Ted
T I aﬁﬁrqg

formrfrfiaa faramed 8 waffares ugw 30 I
(A) FEEEEE éﬁja I

(B) & ANI-SEHID

A & T -t

Frafa g4 g

N

Which of the foﬁving is a coloured broiler

poultry bird? ¢
Choose the most gpropriate answer from the

Green foddeg.-|Berseem
Non—legumi%bs dry fodder - Lucerne hay

Feeds rich i protein - cotton seeds

(B)

options given below:

(A) CARIBRO BHANRAJA

(B) - CARI PN\%

(C) CARI SONALI

(D) CARIBRO gSHAL

(E) Question ndtfattempted
forferfiaa & & Mg T SiTser fifez qaft &9
(A) ¥ ST ARIBRO DHANRAJA)
B) 0 firm (CARI PRIYA)

C) i EETt (&;RI SONALI)

(D) Fasi %W@ARIBRO VISHAL)

(E) STuia@yd )

[ Contd...
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Which of the following animals is used. for the

Preparation of vermi compost manure?

Choose the most_appropriate answer from the

options given below:

(A)  Leech (B) Silk worm

(C) Earth worm (D)  Millipede

(E) Question not attempted

Frferiiaa & & @v-an siq auffpvine @ am i

ﬁmﬁa@aﬁmﬁﬁﬁmmm—ﬁ:

(A) i (B) fires 9 (om fie)
Q) s (D) fhefds

(E) Sqafa wy

In Rajasthan hot, dry and dusty winds start

blowing in summer which is called .

Choose the most appropriate answer from the

options given below:

(A) Siroco (B) Takn

(C) Foehn (D)  Loo

(E)  Question not attempted

mﬁma@ﬁﬁ,w;ﬂz%qﬁmm

A e amamra
A= fow et 3 & wra guge s
(A) o (B) dmH

(C) e ) 9

() rafaas

Rajasthan receives most of its rainfall from

Choose the most appropriate answer from the |

options given below:

(A) South - west monsoon
(B)  South - east monsoon
(C) East - west monsoon

" (D) North - south monsoon

(E)  Question not attempted

S e & siferm & ww At
2

ﬁgw i fera o forepedl & waw Juges I
(A)  feqor-gférd A

afegor-qalf Ag
A(C) yefi-aferdt AT
(D) Iudi-afaofy wrgA
(E) 1gafa gy
TUV-Co9| ¢

\l{ Several types of
| forests of Rajasthan.

. Choose the most appr

120
N

~b. @ﬁmmm@mmél

grasses are found in the thop =
‘ = -

g them.

. i ss amon
tify the main gras
S answer from the

opriate

options given belpw:

(A) Jharber (B) Se\./un
(C) Fog ‘ (D) Ka"-‘ \
(E)  Question not attempted ,
mﬂ%maﬁﬁaﬁimaﬁmmm
i e S T ) TR I E
ﬁmﬁfﬁaﬂﬁﬁm‘iﬁﬁmffhﬂ;wgwmgi: ‘T
(A) T B) - Ham b |
(© %" D)

kaul
(E) 3igafid 9a

Which of the following statements are correct?
Melting of ice is a chemical change.

b. Formation of curd from milk is a chemica
change.

o Rusting of iron is a chemical change.

d. Dissolution of salt in water is a physical
change.

Choose the most appropriate answer from the
options given below: .
‘(A) a and d only.

(B) a,bandconly

(C) bandc only

(D) b, canddonly

(E)  Question not attempted

freferfiaa & & A9 wom v 3

a. o e o vl ahad 2)

S R S S o et ahed 2

A fow e fererent ¥ & wrarfere .
(A) ¥ a3t g EEA
B)  Fa a, b 3ii ¢
(©)  Fa b3k ¢
D) FAD, ¢ 3y g

(E) %ga

| Contd...



Q% Choose the irreversible change from the X

following;:

Choose the most appropn% answer from the
options given below: o

(A) o

(B) Compressing the spoﬂ'g#

(C) Chilling of milk '

(D) Burning of wood

(E) Question not attempt

FrafaRaa & & sgemi EQRCIERE
e fepedt & & wratfig Fugw s
(A) Th& U (B) OFES %1 EdeT

(©) TaH A () OFhEt &1 STt

(E) i@y s

When the tip of a piece ga thin ribbon of
magnesium is cleaned and BgQught near a candle

flame it burns with a brilliadf g

Choose the most appropriate answer from the

Melting of ice

options given below: =5

(A) Blue light @B) Phite light
(C) Yellow light (D) _Red light
(E) Question not attempted]

i ¥ U T B () F 2 % Th R

#wmaﬁlﬂmtﬁ%%ﬁwm?ﬁ%
ST 2l

freforfae fareedt o &

(A) THHER et TR F FY

(B) AR Tha TahINT o @R

(C) =rehaT ey ST & AT

(D) =IWERER TSl YT

(B) SAaiayd O

Who were the Phad reciters®)

Choose the most appropriate answer from the

IggF IALT:
2 D

options given below:

(A) Banjaras (B)
(C) Kalbelias (D)
(E)  Question not'attempt%i‘l

e ¥ aTeish H A7
ﬁgﬁ;@aﬁmﬁﬁwﬁ%mﬁmaﬁ
(A) S B) Sefrar

© weAfmr (0 S
(E) ag?rﬁﬁ 94

TUV-co9] &

Bhopas
agrada

(

74

27

N2

6 .

Forts situated on high mountains are called:
Choose the most appropriate an%%er from the

options given below: Ol
(A) SainyaDurg (B) Dhanvdn Durg
(C) Giri Durg (D) Panmburg
(E) Question not attempted

| ﬁw@m@aﬁwﬁﬁmmg

frfafaa fasedt & & waifas 31727?5 A
(a) =T ®) g

Q fifegt (D) g
(E) raf@ys | fi'::l

125 \ At 10% per annum compoéxgd interest,

compounded half yearly, in how rilich time will
24 mioriths
12 mon‘ths

a sum increase by 10.25%?
(A) B)
© (D)
(E) Question not attempted &

10% aTfeh Tshafa ST T, Selfeh SIS STSATHh
At el @ g, fha g s afar 113!25%&»‘?31’33' .

B SITE?
(B) 241:%

(A) 159EH
©) 117ER (D) 120

(B) SATORawd :

The ratio of milk  and water in ¢4 liters of a
mixture is 5:3. What amount of fittk should be
added in the mixture to make the r 0 9:4?

(A) 12 liters B) 14 1155;;

(C) 16 liters (D) 15 litgss

(E) Question not attempted .3

64 fex 3 forgror & g SR o F 31T 523 R 3@
Rragor 3 S fohert gur e S 56 AT 9: 4 2

15 months
11 months

(B) Iguia g4
If 8A = 9B = 10C, then A:B:C is:
I 8A =9B = 10C, W AB:C®:

A  45:40:36 (B) 40:45:36
(C) 45:40:48 D) 32:36:45
(E)  Question not attempted / 3TN Wy

[ Contq,_
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128 A sum of Z 300 is to be divided among P, Q and

\30 The full form of N. F. E. With refe,
R in such a way that Q gets ¥ 30 more than P and nutrition of cattle is:-
R gets ¥ 60 more than Q. Then the ratio of their Choose the most appropriase answer
shares is: options given below:
% 300 FHrufirp, QWRﬁNWm%%Q - (A)  Nitrogen Free Extract
FPTZ30 WWB\TWREQQQ?WW (B)  Nickel Foam Extract
T & 37 feeg} & U - (C) Nitrate Fluorine Ether
6A)  4:5:6 (D)  Nitro Fluoro Extract
(B) 3:4:5 (E)  Question not attempted |
" T « et 3 e 5 et . ¢ Ty
N 5505 ﬁﬂ%%ﬁﬁmﬁﬁﬂa%wmmﬁl
(E)  Question not attempted / a@ﬁﬁﬁﬂ% \M) ﬁmq:qg 3
- (B) '
\123 Feeding large doses of vitamin ‘D’ one week © ng&n é
before calving protects the cow against: 0 q@mm i
Choose the most appropriate answer from the * 3‘!3)?{?(?{3‘[% 3
?:;lon;gil;e;:zéw: , \1{ Continuous inbreeding increases: g
Choose the most appropriate answer from
(B)  Foot and mouth disease , s o i
(C) Udder Congestion *) Fertility ‘
(D) Ketosis ®) Homozygosity a
(E).  Question not attempted © Het erozygasity
IS N ST 3 3 Toh TS TRt Ry ) Ry < ®) Ovulation capacity
R S e Ty () Question not attempted
I e @: TR 376797 9 syegeft 2. |
Fresftan fasredt & watfres suge e, PR et i s sugm st
&) e (A) S sy |
(B) 1 o et T (32 0 w1 fewfie, ®) S
(©) ot dger ©)  frwrmrem
(D) Ffem (D) sttt gy
(E)  srafa wa | (E) Sty wsy
TUV- o9 b 28
32X
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133

134

) 204, 1.2
o 102 O
\ o.%

—

Which of the following are the endoparasites of -

le?
cattle 204 1 &
a. Ll.ce e 10 10 )

b.. Tape worm
c. Ascaris

d. Liver fluke
e. Ticks

L 7—0\4, 'L'Q

Lk
| T
Choose the most appropriate answer from the
options given below: s)

(A) a,candeonly B)
(C) b,canddonly (D) a, b and c only
(E)  Question not attempted
e 3 2 - R 3 si e &
a. ST '
b, HrTR
t. e
. AR
.. Tl (omm)
ﬁﬁqmﬁmﬁﬁw&mmwﬁl
AY ¥ a, c3lte (B) Sarasite
t€) ¥aeib,c3fd (D) %ﬂ?a’bﬁc
€ rgaRar

d and e only 403

The LCM of two numbers is 8 times their HCF l

and sum of LCM and HCF is 108. If one of the
numbers is 32, then what is the other number?
3 weaTail s LCM S HCF T 3113 THT & T

LCM & HCF &1 31T 108 31 A ST § e gean 32

2, ot et we T 7

(A) 28 (B) 36

cx 32 (D) 30

(E) Question not attempted / Frafa g4
Three numbers are in the ratio 4:5:6 and their
HCF is 8. The LCM of the numbers is:

7 GeaTd 4:5:6 3 S § & AW I7H HCF 82l
HETe) &1 LCM &:

(A) 120 (B) 960

Q) 480 (D) 240
(E) Question not attempted / FrgaRa 9

TUV. co9) & g\3 . 2 ﬁ
ol Ty X

24 L

29

2 1%
\S/‘/ Yy DL

\35 What is the LCM of 20.4, 1.2, 8 7

20.4, 1.2, 8T LCM FT8?

) 408 (B) 40.8

(C) 816 (D) 8l1.6
(E) Question not attempted / Frata 34

: iod was
Rajasthani literature of the Bhakti period
mainly written between '
Choose the most appropriate answer from the

options given below:

‘ (A) 1850 to Present time

(B) 1050-1450 A.D.

(C) 1450-1650 A.D.

(D) 1650-1850 A.D.

(E) Question not attempted

e e P T AR e
e forar

frfrfaa frered! 3 & gaifire 3ugw SO
(A) 1850 & FAHH ¥HI

(B) 1050-1450 T €.

(C) 1450-1650 T. Et.

(D) 1650-1850 T, €.

(B) i o

Which genre of Rajasthani prose and poetry were
written in Sortha verse?

Choose the most appropriate answer from the
options given below:

(A) Rupak ®)
(C) Dwavait D)

Saakhi
Vaat
(E)  Question not attempted

mgaﬁwaﬂtw%ammﬁﬁmmm

7

freferia fompedt 7 @ warifares sugew swoay,
(A) ¥ 9= (B) wrEh e
& = D) @

(B) SAguia oy

[ Contgq,



The b()ok «
teaching ofAnu-bhav Vaani” contains the spiritual
Choose th Whlehmfthe following
e .
Optiong giVe::g;:’iP’ opriate answer from the
A Saint Mgy
(B) Maharshisﬁavalram
©)  RrRam Chargip
M)  Saint Rariaba;
®) " Question not attempteq
T T S Pt 3 o
;”"‘"“‘*ﬁmﬁﬁﬁ%ﬁ?
@A) g | ';E.'irf‘ﬁama;aqgmmgﬁ
by TSl (B) - #= Foermy
© Wy ¢y (D) & o
(E) TR s

Besides Gogaji:hixihich other folk deity is revered
as the God of Setpents?

Choose the mos} appropriate answer from the
options given bsel w: |
(A)  Mallinathii, (B
©  Ramdevii: (D) Tejasi
(E) Questioﬁ'_iﬁé)t attempted

ma;aamfaﬁq.amaaamﬁﬁmas

Pabuji

‘@Tﬁg\mm

FrafoRaa 1 3 & et sugw s
(A) weAFTR (B) s

© wwEsh T @) e

() st g

The life histori?%if saints which is available in
poetry form in Rajasthani language is known as:
Choose the most appropriate ahswer from the
options given below:

(A) Marasya;j} (B) Vaat

(C) Parchi &y (D) Prakas

(E)  Questionnat attempted

Hal T St st fob TSt oy & ey w0 8
frferfaa foreredi & & @aifare Jugw oo
(A) wEem  (B) 4@

{C) ureEr (D) Y™

(E5 AT 54

TUV-co9] ¢

30

141 Forests and waste land belonging ¢, the
\ government

. Choose the most appropriate answer from the

X

:

d
communities egs called:

Choose the moft appropriate answer frop, the
options given®Bélow:

private individuals

(A) Private forests

(B) Protectgd forests

(C) Unclassed forests

(D) Reserved forests

(E)  Questibdnot attempted

wht 3 sttt mqgm\iﬁqaﬁmmj
3 37 of &
ﬁﬂ%ﬁﬂﬁﬁ@ﬁﬁﬁwﬁwmmgﬁ:
(A Fs=p  ®) ®ww

(C) omErfigead (D) IR a :
(E) ﬂﬂﬂﬁ?@ﬂ |

The SitamataWildlife Sanctuary is located at-
Choose the %st appropriate answer from the

options giver{'lgflow: J
(A) Jaipur (B)  Chittorgarh ,
© Alwar‘“lQ (D) Bharatpur ]
(E) . Question not attempted

T Searelig ST forg 2
ﬁw%ﬁaaﬁRﬁﬁﬁwﬁhaszgﬁ:
@ wEEN @) R

<) m,ﬁf} (D) saEH

E) sraRgys

Which of the‘fgllowing natural resources do not
require conservation? ‘

options given Blow:

(A)  Solar ehgrgy (B) Water
© Ar N ) gop ;
(E)  Questidihot attempted | |
Freafeafae st wemert i & fees fore g
AT ATTTIHAT gy 29 |
Frferfen freht # & wrarifires saes o H:

@ It o
©

Rk ) &
(B) Safawy R
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A shopkeeper bought ball pens at the rate of 8 for
¥ 40. How many ball pens should he sell for T 30
in order to earn 20% profit?

Teh AR T 40 éssaﬁratﬁmaﬁ:r@ﬁ%rzo%
maﬁfﬁ?ﬂ‘}%ﬁfﬁnﬁ? mﬁ%a‘?ﬁnﬂﬁwéaﬁ

e f.
(A 7 (B): .4 N~/
< S .. (D) -6 R

(E)  Question not attempted / 3TTafa I57

A shopkeeper sold 2 bedcovers at ¥ 594 each. He
earned 10% profit on one and lost 10% on the
other. Whatis his overall profit or loss percentage?

(A) 2% profit (B) - No profit, no loss
(C) 1%loss (D) 1% profit
(E)  Question not attempted

U THFER A 2 TR, TS HI T 594 § 91 Th T
Eo) IO%ET'sxganaﬁtauﬂm 10% =i §8) o

memmﬁgﬁmw%o
(A) 2% ™ (B) T B
XQO) 1% Ef (D) 1% @™
(B) raf@aygy

A shopkeeper sold an item at a profit of 17.5%. If
he had bought it at 8% less price and sold it at
30% profit, he would have earned ¥ 202 more as
profit. Cost price of the item is:

U GHMER 3 IS 5 17. 5% T oT = At e
EEEC Ll 8%ammqt@ﬂé’raﬁ?ﬁaﬁt30%mqt
St et Y 38 T 202 TR AT T G AT ]

1 3 0 &

(A) T1900  XBP 2000

(C) T 1980 (D) T 1960

(E)  Question not attempted / 3TTafa T

An object is placed at a distance of 60 cm in- front
of a plane migror. What will be the distance
between the object and image formed by the
mirror?

mnmaﬁw%wmﬁuﬁ:%@ﬁaqﬁﬁo cm ¥
gl W T I, at o 3TN o gR S aTe 39
afafeier 3 ofrer 1 gl fepereft 22

Choose the most gppropriate answer from the
options given below:

ferepedl 8 @ TrFiferes Iuges I :
(A) 150 cm M) 60cm
(C) 100 cm (D) 120cm
(E)  Question not attempted / SITARd T4

149

s

- TUV-C09] & ' 3

\|4,8 What will be the number of images formed for an

object placed in between the two plane mirrors
placed at an angle of 60° between them?

@Zﬂ%ﬁm{‘%aﬁmmr@a‘rma@ﬁ%aﬂa
oy areq 3 a arel wfafefait <6 @ feperft 21t
Choose the most appropriate answer from the

options given below:

Freaferfiaa freredt 3 & aaifires U A T
(A) 6 (B) 3
) 4 Q) S

Question not attempted / Mjﬁﬁa 94

()

(E)

A spherical mirror in which the outwardly curved

part works as a reflector is called :

Choose the most appropriate answer from the

options given below:

(A) Convex mirror

(B) Plane mirror

(C) Parabolic mirror

(D) Concave mirror

(E)  Question not attempted

wa el ador, foraerr smet it IR Ffshd WIT T

qurardas 1 Wifd e AT 2, 98 FHaEeral &:

ﬁw%%ﬁﬁmﬁﬁwaffbmmm—@
RS LR

(B) EHAS 34T

(C) wEefen (ueferr) ador

(D) 31Ead I

(E) Iaf@ayd

A cross in which the F| generation is crossed
with the recessive parent is called:

Choose the most appropriate answer from the
options given below:

(A).  Polyhybrid cross

(B) R.cciprocal Cross

(C)  Test cross

(D) Back cross

() Question not attempted

toT d@at (R o By odiel ST SR STt
S § HUAT AT &, FeeAal e
frafafaa faemeat § & waffas Iagw 9 4

(A) STEHEHT GHT

(B)  cshH R

(C)  udiamome (2€) GhHOT
(D) el (aeh) HehTuT

() Saf@ a
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